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1 db. dbf
( » e
s steode n(6,0)
’ lsuud}el, n(3,0)
2,0
« » <amph h(2:0)
VFP 6.0 amce c(20)
( ) , 1 2 ( sxmb. dbf)
4 , fteme 3,0
Jfdm (20
( ) hzdm c(20)
3 ( ) (slsb 1. dbf)
1 steode n(6,0)
1 ye n(4,0)
rscode n(3,0)
2 samph n(2,0)
3 sampr n(( %), 0)
rsc Cl
2,0
4 day. h(20)
5 sh(') n(2,0)
smi n(2,0)
1 w __temp (C) n(4,1)
wd (m) n(5,2)
2 V\I—(II - (m3/ s) ng,%g
n(5,
3 XPA)/ __sus P (mg/L) n(8,1)
Do (mg/1) “E?%i
m, n(5,
! con,, i) n(7.2)
) BOD: (mg/L) n(7,2)
NH, _n (mg/L) n(8,3)
2 NO, _n (mg/L) n(6,3)
3 NO; _ln (mg/L) n(6,2)
vV _ /L 8.4
CN pthF:\al (nzgmg;L) 256,33
4 As totall (mg/L) n(6,3)
H tot /L, 8,5
5 B (m(gmg}L) 257,33
Pb __total (mg/L) n(7,3)
Cd __total (mg/L) n(8,5)
oils (mg/L) n(10, 3)
3 w __ond (ms/m) n(7,1)
cdme c(20)
( 1) « 2000 4 ( ) (slsb 2. dbf)
’ » st code HES,S;
e ,
5 000 ? zscode 2(3,0)
sam ph 2,0
500 . it et
IS¢ >
, 10 , dmon ;E%,g;
lay n(2,
sh(y) n(2,0)
: . i
iteme n{>,
( ) ’ ? valuew n(14,5)
« » cdme c(20)
’ form 1. init( 1)
chose all
clear memory
(3) ’ set default to e \ \ basedata
VFO &&'e: \ \ basedata € »  Baalaa
6.0 ,
if. not. file(" scdb. dbf’) & &
« » create tale scdb(steode n( 6, 0) ,rscode n( 3, 0) ,;
Basedata samph n( 2, 0) , sampr n(2,0), ame ¢(20) )
B use
4 messagebox (” "4 dir( l3)+” ”)
’ ’ endif
( « if. not. file(" scmb. dbf') && ,
» 1.1 create table scmb( iteme n(3,0), Adm ¢( 10), hzdm ¢( 20))
use
3.2.2 ) mes%age,hox(” "4 dor( I3)+” ”)
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endif
i. not . file("slsb 1. dbf) & & ,

create table slsb 1(stcode n(6), ye n(4), rscode n(3), ;
samphn(2), sampr n(2) , sc ¢(2), mon n(2), day n(2), ;
shon(2), smin(2), w-temp n(4, 1) ,wd n(5,2),wqn(8,2),;

phn(5,2) ,w __susn(8,1), hd n(9, 2),don(5,2), odmn n(7,2),;
bod 5 n(7,2),nh4 __nn(8, 3), no2 __nn(6,3), no3 _nn(6,2),;

v __phenn(8,4), cn __totd n(6,3), as __total n( 6, 3),;

hg __total n(8,5), ct6 n( 7, 3) ,pb __total n(7,3), ;

cd __total n( 8, 5),0ils n( 10, 3) ,w __cond n( 7, 1) ,cdme ¢(20))
use

endif
if. not.file(”slsbl dbg) && ’

create table slsb 2(stcode n(6), ye n(4), rscode n( 3),;
samphn(2), sampr n( 2) ,rsc  2) ,monn(2), day n(2),;
shon(2),smin(2), iteme n(3), valuew n( 14,5), edme ¢( 20))

use

endif

useslab 1 in 1

use slsh 2in2

use scdb in 3

use sxmb in 4

thisform. command 2. enabled= . f. &&
thisform. combol. coimnount= 3 & &

” ”

thisform . combol. bound lumn= "1

thisform . combol. colimnwidths= ”45, 45, 100,”
thisform. combol. rowsourcetype= 2

thisform . combol. rowsource=" scmb

command 1. click ( " ! )

select sxmb

if. not. reccount () = O then &&

select sedb

if. not.reccount() = 0 then &&

thisform . combol. bound imn= 3

¢ __hzdm= alltrim (thisform. combol. value &&
thisform . combol. bound imn= 2

¢ __zfdm= alltrim( thisform. combol. value) & &
thisform . combol. bound imn= "1

(:_msg:” St ¢__ hzdm & &

n __ye= val( alltrim(thisform.text 1.vadue) ) & &
n __mon= val(alltrim (thisform. text 2. value) ) & &
n _ day= val(alltrim( thisform. text 3. value)) &&
n __iteme= val(alltrim (thisform. combo 1. text) ) & &
if n__mon{= 4 then &&

c__ T8 '

endif

if n_mon4. and. n __mon{= 9 then

c_rse="t"

endif

if n__mon9 then

c__rse= p

endif

1 _ 1= len(alltrim( thisform. text 1. value)) = 0. or.;
len(alltrim( thisform. text 2. value)) = 0. or.;
len(alltrim( thisform. text 3. value)) = 0. or.;
len(alltrim( thisform. combol.text) )= 0

f(1__1=.t) then

m essagebox 1”0”1

else

if messagebox (¢ __msg, 65,” !”) = 1 then

f.not.“*”$ ¢ _ hzdm then && *

select slsh 2

delete al

pack

append from g4 for ye= n __ye. and.mon= n __ mon;

.and. day= n __day. and. iteme= n __itemc
&&
n __recount= reccount( )
if n __reccount= 0
append from scdb
update slsb 2 set stcode= 510400, ye= n __ye,;
mon= n __mon, day= n __ day, itemec= n __iteme,8¢= ¢ __185¢
&& s
& & 510400
eke
for i= 1 to reccount( )
goto i
n __rsc= rscode
n __samph= samph
n __sampr= sampr
select sadb
select cdmc from sadb wherel;

(rscode= n __rsc.and. samph= n __samph.and. sampr= n __ sampr) ;

into array acdmc
select shb 2
replace cdme with acdme &&
next i
endif
browse fields cdme 1 h="

&&

" ”
, valuew; h=

eke
select skb 1 & & %
delete all

pack

append from qr3forye= n__ye and.mon= n __ mon.and.day= n __ day

&&

n __recount= reccount( )

if n __ reccount= 0

append from scdb

update slsb 1 set stcode= 510400, ye= n __ye,;
mon= n __mon, day= n __day, sc= ¢ __s¢

&& s

& & 510400

eke

for i= 1 to reccount( )
gotoi

n __rse= rscode

n __samph= samph
n __sampr= sampr
slect sedb

select ecdme from sadb where;

(rscode= n __rsc.and. ssmph= n __samph. and. sampr= n _ sampr) ;

into array acdme

select skb 1

replce cdme with acdme &&

next i

endif

browse fields cdme r: h=" " ,” &c _zfdm.” h=" "
&&

endif

thisform. command 2. enabled= . t.

thisform. command 1. enabled= .f.

thisform. command 4. enabled=.f.

thisform. command 5. enabled= .f.

thisform. text 1. enabled= . f.

thisform. text 2. enabled= . f.

thisform. text 3. enabled= . f.

&& ! ,

endif

endif

eke

messagebox (” "0, ! )
&&

endif

eke

messagebox (” "0, ! )
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& & messagehox (” s 1”0,
endif && »
eke

command 2. click ( ) messagebox 17,0,y
n __ye= val( altrim(thisform. text 1.vdue)) & & recall for ye= n __ye.and.mon= n __mon. and. day= n __day
n __mon= val(alltrim (thisform. text 2. value) ) & & && R
n __day= val(alltrim( thisform. text 3. value)) && endif
thisfrom . combol. bound imn= 3 endif
¢ __hzdm+ thisform. combol. vale && thisform. command 2. enabled= .f.
thisform . combol. boundc limn= 2 thisform. command 1. enabled= . t.
¢ __zidm= thiform. combol. value && thisform. command 4. enabled= . 1.

v thisform. command 5. enabled= . t.
if.not. *°$ ¢ __hzdm then && *

thisform. text 1. enabled= . 1.

select slsh 2 thisform. text 2. enabled= . t.

I __kskb= .t thisform. text 3. enabled= . t.

n __kssb=10 && s

for = 1 to reccount( )

goto i command 3. clidc( )

if valuew= 0 if me:ﬁagehnx(” s 7 s 65,” ”) = Ithen

I __kskb= . f. messagebox(” "0, 30 ”)
n __ksdsb=n __kskb+ 1 &&

¢ __kedme= alltrim (edmo select salb

endifl for i= 1 to 30

next i append blank && 30

n __answ= 0

. next i

it l_k k@kﬁ)—” " £ lhenk dmes """ """ s browse fields stcode: h=" " rscode h=" "

o __kmsg= + ¢ _kedmet T+ + o+ , camph h= ” ” , sampi v " edm h=" ”
alltrim (str(n __ kslsh)) + 0! ? &&

n __ answ= messagebox( ’ (V)1 4+ 64+ 256, ¢ _ delete for stcode= 0. or.rscode= 0.or.samph= 0;

kmsg) cor.sampr= 0. or. len( alltrim(cdme)) = 0

&& : pack & &

endif endif

if 1 __kskb=.t..or.n __answ= 6 then command 4. clidk(

usle art 1;: 12 if me:ﬁagehnx(” s ?”657” ”): 1 then
select (l{rf w2 messagebox(” "+ chr(13);
append from sld 1 e . "
use n 12 +0 . 0 + (}/1/!( 13)= c& 5
m essagebox s 17,0,y T : )
&& ( » »
else thisform. combo l.rowsourcety;lm?/: 0
me;sagebox(// !//’ 0’// //) thisform. combo 1. rowsource=
& if ’ select sxmb
en for i= 1 to 30

append blank && 30
else next i
olect ds & * " " " " ”
select slsh 1 && browse fields itemd = Adni b= halii h=
1 __kskb= .t &&
n __kslsh=0

delete for iteme= 0. or.len( alltrim(zfdm)) = 0;
.or. len( all rim( hzdm) )= 0
pack & &

thisform. combol. rowsourcetype= 2
"

for & 1 to reccount( )
goto i

”

if &c __ zfdm.= 0 then

1 kskb= . f thisform. combol . rowsource= sxmb & &
n_ kb= n _ kskbr 1 endif
anfkcdmw dllrintedn command 5. clidc( )
r;ext i if messagebox(’ oV 4 64+ 256, ?") = 6 then
n __answ= 0 &&
1 kskb= .f then thsform. combo 1. rowsourcet ym: 0
c _knwgz " +. ¢ kedmet "+ T+ thisform. combo 1. rowsource=
+ alltrim (str(n __kslsh)) 4 0! 4 c:%: all "
n _answ= nessagebox(’ , (Y)!", 4+ 64+ 256, ¢ _ thslorm. re o
kmsg) quit
& & ,
endif eke

thisform. command 2. enabled= .f.

f.

#f1 kskb=.t..or.n answ= 6 then thisform. command 1. enabled= .t.
" - t
t

use i3 in 11 thisform. command 4. enabled= . t.

thisform. command 5. enabled= . t.
thisform. text 1. enabled= . t.
thisform. text 2. enabled= . t.

sled qr3
dekte for ye= n __ye.and. mon= n __mon. and. day= n __day

a 1from slsb 1
append trom s thisform. text 3. enabled= . t.

&&
endif

pack
use in 11



